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Analysis of Algorithms

Exercise 4-1
Solve the following recurrence: Let ag =1, a; = 1, a; = 4 and

ap = 20p_1 — Qp_9 + 2a,,_3, for n > 3.

Exercise 4-2
Solve the following recurrence: Let by = by = b3 = 1 and
bn = 3bn—1 — 4bn—2 + ]-2bn—3 for n > 3.
Homework Assignment 4-1 (10 Points)
Solve the following recurrence: Let ag = 0, a; = 3 and
a, = 4a,_1 — 4a,_o for n > 1.

Homework Assignment 4-2 (10 Points)

Solve the following recurrence and find a nice representation of the solution (in a math-
ematical sense).

Co — 2
T = 4

log cn—1
Cn = n—2n



